CCGPS Analytic Geometry Unit 6 Review: Circles, Parabolas, Systems of Equations
Equations: (x —hyP+(y-k’=r" x-h’=4py—k) (y—k)’ = 4p(x —h)
Graph the equation and identify the important characteristics
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Write the equation for each circle in standard form. Then identify the center and radius.
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6. The circle passes through the point (1, 4) and has its center at (2, 9).

Write the equation of the circle in standard form:

7. Given the circle with a center at (4, -1) and a radius of 2V/13.

Write the equation of the circle in standard form:




8. Solve the system algebraically, and then prove your solution graphically.
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9. Find the standard form of the equation for the parabola with a focus located at (-4, -3) and directrix at y = 5.
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10. Find the standard form of the equation for the parabola with Axis of Symmetry at y = -4 and

Directrix at x =3, and p =2 0
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x2+yr=16 .
11. Solve the system using algebra. SHOW ALL WORK.
x+y+4=0

2 —6y—27=-12
12. Solve the system {y Y * using algebra. SHOW ALL WORK.

2x+y=9

13. Find the standard form of the equation for the parabola that passes through the point (-5, -6) and has vertex
at (-1, -4) and opens left or right.
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CCGPS Analytic Geometry Unit 6 Review: Circles, Parabolas, Systems of Equations

Equations: (x —h)*+(y-kP?=r1* (x—h?=4p(y—K) (y—k)*=4p(x — h)
Graph the equation and identify the important characteristics
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Write the equation for each circle in standard form. Then identify the center and radius.
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6. The circle passes through the point (1, %) and has its center at (2,9).
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7. Given the circle with a center at (4, -1) and a radius of 2v/13. r= i3 J =

Write the equation of the circle in standard form: (K - Ly) + ( j i )
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8. Solve the system algebraically, and then prove your solution graphically. > / J
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9. Find the standard form of the equation for the parabola with a focus located at (-4, —3) and directrix at p=5,
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2+yr=16
11. Solve the system Yy using algebra. SHOW ALL WORK.
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12. Solve the system {y using algebra. SHOW ALL WORK.
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13. Find the standard form of the equation for the parabola that passes through the point (-5, -6) and has vertex
at (-1, -4) and opens left or right. CNE X
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